Analysis of Algorithms
CSE 5210
Fall 2013 
Quiz 3
Points 35    Time 70 min

(four questions)
Q1. Basics: What is the time and space complexity of the following pseudo-code fragment in terms of n: 

For i = 1 to 3 do

  For j = 1 to n do

    For k = n downto j do


Count++;





[5]

Q2. DP: Solve the following 0-1 Knapsack problem using dynamic programming algorithm.
The optimum profit table must have rows according to the following object-order.

{O1(5Kg, $3), O2(3, 30), O4(8, 56)}, M=8.  
[5]

Q3. Backtracking: Solve the following 0-1 Knapsack problem using backtracking algorithm with pruning by weight: {O1(5Kg, $3), O2(3, 30), O3(2, 12), O4(8, 56)}, M=9.  Draw the tree and show where and how pruning is happening.
 [10]

Q4. Djikstra: Find the shortest path length from node a to all other nodes for the following undirected and weighted graph using Djikstra’s algorithm.
Show how would you find a shortest path from node a to node d  using your results.









[10]
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